Chapter 15 solutions to exercises 10th edition Slater

1.
$120,000 – $10,000 = $110,000 loan

N= 300
(25 years * 12)

I%= 5

PV=110000
($120,000 – $10,000)

PMT= 0 alpha solve –643.05

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Mortgage Payment $643.05
2.

N= 360
(30 years * 12 payments per year = 360)

I%= 5.5

PV= 85000

(amount financed)

PMT= 0 alpha solve –482.62

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Mortgage Payment $482.62
3.
$190,000 – $50,000 = $140,000 loan

N= 420

(35 years * 12)

I%= 7

PV= 140,000
($190,000 – $50,000)

PMT= 0 alpha solve –894.40

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Mortgage Payment $894.40
4.
Total cost of interest (in problem 2) = total repaid – mortgage amount

Total repaid = number of payments * payment amount = 360 * $482.62 = $173,743.20

Total cost of interest = $173,743.20 – $85,000 = $88,743.20

5.

N= 360

(30 years * 12 payments per year = 360)

I%= 7

PV= 85000

(amount financed)

PMT= 0 alpha solve –565.51

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Mortgage Payment = $565.51
Total cost of interest = total amount repaid – amount financed

Total cost of interest = 360 * $565.51 – 85000 = $118,583.60

6.
Amount financed = $125,000 – $5,000 = $120,000

N= 360 

(30 years * 12 payments per year = 360)

I%= 7

PV= 120000

(amount financed)

PMT= 0 alpha solve –798.36

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Payment = $798.36
Interest for one month = $120,000*0.07*(1/12) = $700

Toward Principal = $798.36 – $700 = $98.36

Balance remaining = $120,000 – $98.36 = $119,901.64
7.
Amount financed = $199,000 – $40,000 = $159,000

N= 420

(35 years * 12 payments per year = 420)

I%= 12.5 

PV= 159000

(amount financed)

PMT= 0 alpha solve –1677.85

FV= 0

P/Y= 12

C/Y= 12



Answer: Monthly Payment = $1,677.85

Interest for one month = 159,000*0.125*(1/12) = $1,656.25

Toward Principal = $1,677.85 – $1,656.25 = $21.60

Balance remaining = $159,000 – $21.60 = $158,978.40
8.

N= 360

I%= 11

PV= 70000

(amount financed)

PMT= 0 alpha solve –666.63

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Payment = $666.63
	Monthly Payment Number
	
Principal

Balance
	
Interest

Amount
	Amount of Monthly Payment
	Reduction in Principal due
	
Principal Balance

	1
	$70,000.00

	$70,000.00*.11*1/12=

$641.67
	$666.63
	$666.63 – $641.67 = 

$24.96
	$70000 –
$24.96 =

$69,975.04

	2
	$69,975.04


	$69,975.04*.11*1/12=

$641.44
	$666.63
	$666.63 –

 $641.44 =

$25.19
	$69,975.04–
$25.19 =

$69,949.85

	3
	$69,949.85


	$69,949.85*.11*1/12=

$641.21
	$666.63
	$666.63 –

$641.21 =

$25.42
	$69,949.85–
$25.42 =

$69,924.43


9.
A 20% down payment implies she will finance 80% of the purchase price.

0.80 * $215,000 = $172,000 = amount financed

a.

N= 360
(30 years * 12 payments per year = 360)

I%= 5

PV= 172000

(amount financed)

PMT= 0 alpha solve –923.33

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Payment = $923.33

10.

N= 360
(30 years * 12 payments per year = 360)

I%= 7

PV= 40000000
(amount financed)

PMT= 0 alpha solve –266120.9981

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Payment = $266,121.00

(rounded to the nearest cent)

11.
Down payment $140,000 * 0.20 = $28,000

Mortgage Amount = $140,000 – $28,000 = $112,000

N= 360
(30 years * 12 payments per year = 360)

I%= 5.5

PV= 112000

(amount financed)

PMT= 0 alpha solve –635.92

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Payment = $635.92

Total interest = 360 * $635.92 – $112,000 = $116,931.20

12.

N= 360
(30 years * 12 payments per year = 360)

I%= 7.5

PV= 112000

(amount financed)

PMT= 0 alpha solve –783.12

FV= 0

P/Y= 12

C/Y= 12
Answer: Monthly Payment = $783.12

Total interest = 360*783.12 – 112,000=$169,923.20

Difference = $169,923.20 – $116,931.20 = $52,992
13.
Down payment $150,000 * 0.20 = $30,000

Mortgage Amount = $150,000 – $30,000 = $120,000

N= 300
(25years * 12 payments per year = 300)

I%= 13.75

PV= 120000 
(amount financed)

PMT= 0 alpha solve –1421.60

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Payment = $1421.60

	Monthly Payment Number
	
Principal

Balance
	
Interest

Amount
	Amount of Monthly Payment
	Reduction in Principal due
	Principal Balance

	1
	$120,000.00

	$120,000.00*.1375*1/12=

$1375
	$1421.60
	$1421.60 – $1375 =

$46.60
	$120,000

–$46.60 = $119,953.40

	2
	$119,953.40
	$119,953.40*.1375*1/12=

$1374.47
	$1421.60


	$1421.60

–$1374.47 = $47.13
	$119,953.40

–$47.13 =

$119,906.27

	3
	$119,906.27
	$119,906.27*.1375*1/12=

$1373.93
	$1421.60


	$1421.60

–$1373.93 =$47.67
	$119,906.27

–$47.67 =

$119,858.60


14.
Mortgage amount = $50,000 *.80= $40,000

a.

N= 300
(25years * 12 payments per year = 300)

I%= 11.5

PV= 40000

(amount financed)

PMT= 0 alpha solve –406.59

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Payment = $406.59

Total cost of loan = $406.59*300 – $40,000 = $81,977.00
14b.

N= 300
(25years * 12 payments per year = 300)

I%= 12.5

PV= 40000

(amount financed)

PMT= 0 alpha solve –436.14

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Payment = $436.14

Total cost of loan = $436.14*300 – $40,000 = $90,842.00
14c.

N= 300
(25years * 12 payments per year = 300)

I%= 13.5

PV= 40000

(amount financed)

PMT= 0 alpha solve –466.26

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Payment = $466.26

Total cost of loan = $466.26*300 – $40,000 = $99,878.00
14d.

N= 300
(25years * 12 payments per year = 300)

I%= 15

PV= 40000

(amount financed)

PMT= 0 alpha solve –512.33

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Payment = $512.33

Total cost of loan = $512.33*300 – $40,000 = $113,699.00
14e.
$113,699.00 – $81,977.00 = $31,722.00
14f.
11.5%

N= 360
(30years * 12 payments per year = 360)

I%= 11.5

PV= 40000

(amount financed)

PMT= 0 alpha solve –396.12

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Payment = $396.12

Total cost of loan = $396.12*360 – $40,000 = $102,603.20
14g.
15%

N= 360
(30years * 12 payments per year = 360)

I%= 15

PV= 40000

(amount financed)

PMT= 0 alpha solve –505.78

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Payment = $505.78

Total cost of loan = $505.78*360 – $40,000 = $142,080.80

Difference=$142,080.80 – $102,603.20 = $39,477.60
15.
Down payment 20% → finances 80%


.80 * $192,000 = $153,600

N= 180
(15years * 12)

I%= 5.5

PV= 153600

PMT= 0 alpha solve 1255.04

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Mortgage Payment = $1,255.04
16a. $560,000 – $60,000 = $500,000 amount financed

N= 360
(30 years * 12)

I%= 6

PV= 500000


PMT= 0 alpha solve 2997.75

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Payment = $2,997.75
16b. 

	Monthly Payment Number
	
Principal

Balance
	
Interest

Amount
	Amount of Monthly Payment
	Reduction in Principal due
	
Principal Balance

	1
	$500,000.00

	$500,000.00*0.06*1/12=

$2,500.00
	$2,997.75
	$2,997.75 – $2,500 =

$497.75
	$500,000

– $497.75 = $499,502.25


Challenge Problems

17. 

30 year mortgage 

N= 360
(30years * 12)

I%= 7.5

PV= 265000



PMT= 0 alpha solve 1852.92

FV= 0

P/Y= 12

C/Y= 12

Monthly payment for a 30 year loan at 7½% = $1,852.92

15 year mortgage

N= 180
(15years * 12)

I%= 5

PV= 265000



PMT= 0 alpha solve 2095.60

FV= 0

P/Y= 12

C/Y= 12

Monthly payment for a 15 year loan at 5% = $2,095.60


Interest for 30 year loan = 360 * $1,852.92 – $265,000 = $402,051.20


Interest for 15 year loan = 180 * $2,095.60 – $265,000 = $112,208


Savings for 15 year loan = $402,051.20 – $112,208 = $289,843.20
18a.
Mortgage amount = 0.70 * $275,000 = $192,500

	Cash needed (down payment)
	$275,000 * 0.30 = 
	$82,500

	Recording of the deed
	
	$30

	Credit and appraisal report
	
	$155

	Document Preparation
	
	$48

	Transfer tax
	0.018 * $275,000
	$4,950

	Loan origination fee
	0.025 * $192,500
	$4,812.50

	Total
	
	$92,495.50


18b.

N= 360
(30 years * 12 payments per year = 360)

I%= 10

PV= 192500

(amount financed)

PMT= 0 alpha solve –1689.33

FV= 0

P/Y= 12

C/Y= 12

Answer: Monthly Payment = $1,689.33

18c. 

Total interest = 360*$1,689.33 – $192,500 = $608,158.80 – $192,500 = $415,658.80
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